

Contrôle de Mathématiques

La notation sera déterminée par le soin et la clarté de votre travail

Exercice 1 : Calculer :

$$A = \frac{23}{30} - \frac{8}{15} + \frac{7}{20}$$

$$D = \frac{\frac{-3}{7}}{7}$$

$$G = \frac{3}{1 - \frac{2}{3}}$$

$$B = \frac{-5}{7} + \frac{2}{3} \times \frac{9}{-4}$$

$$E = \frac{\frac{20}{21}}{\frac{4}{9}}$$

$$H = 1 - \frac{3}{8} \left(\frac{1}{4} - \frac{5}{6} \right)$$

$$C = \frac{6}{5} \times \left(\frac{1}{4} - \frac{1}{3} \right)$$

$$F = \frac{\frac{5}{4}}{\frac{15}{15}}$$

Exercice 2 : Calculer :

$$A = \left(\frac{2}{3} - \frac{1}{2} \right) \div \left(\frac{1}{3} - \frac{1}{4} \right)$$

$$C = -3 + 5 - (-6) \times (-2) - 3 + (+2)$$

$$E = \frac{7}{2} - \frac{4}{2} \times \frac{6}{8}$$

$$G = -\frac{5}{12} + \frac{7}{18} - 1$$

$$B = -\frac{3}{5} + \frac{2}{3} \times \frac{-3}{5} - \frac{36}{4}$$

$$D = \frac{9}{3} - \frac{8}{3} \div \frac{16}{27}$$

$$F = -1 + \frac{\frac{2}{4} - 2}{\frac{5}{3} - 2}$$

BONUS :

$$\text{Calculer : } H = \frac{1}{1 + \frac{\frac{1}{2}}{1 + \frac{1}{2}}}$$

Exercice 1 :

$A = \frac{23}{30} - \frac{8}{15} + \frac{7}{20}$	$B = \frac{-5}{7} + \frac{2}{3} \times \frac{9}{-4}$	$C = \frac{6}{5} \times \left(\frac{1}{4} - \frac{1}{3} \right)$	$D = \frac{-3}{7}$
$A = \frac{23 \times 2}{30 \times 2} - \frac{8 \times 4}{15 \times 4} + \frac{7 \times 3}{20 \times 3}$	$B = \frac{-5}{7} + \frac{2 \times 9}{3 \times (-4)}$	$C = \frac{6}{5} \times \left(\frac{1 \times 3}{4 \times 3} - \frac{1 \times 4}{3 \times 4} \right)$	$D = \frac{-3}{7}$
$A = \frac{46}{60} - \frac{32}{60} + \frac{21}{60}$	$B = \frac{-5}{7} - \frac{2 \times 3 \times 3}{3 \times 2 \times 2}$	$C = \frac{6}{5} \times \left(\frac{3}{12} - \frac{4}{12} \right)$	$D = \frac{-3}{7} \times \frac{1}{7}$
$A = \frac{46 - 32 + 21}{60}$	$B = \frac{-5}{7} - \frac{3}{2}$	$C = \frac{6}{5} \times \left(-\frac{1}{12} \right)$	$D = \frac{-3 \times 1}{7 \times 7}$
$A = \frac{35}{60}$	$B = \frac{-5 \times 2}{7 \times 2} - \frac{3 \times 7}{2 \times 7}$	$C = -\frac{6 \times 1}{5 \times 6 \times 2}$	$D = \frac{-3}{49}$
$A = \frac{5 \times 7}{5 \times 12}$	$B = \frac{-10}{14} - \frac{21}{14}$	$C = -\frac{1}{5 \times 2}$	
$A = \frac{7}{12}$	$B = \frac{-31}{14}$	$C = -\frac{1}{10}$	
$E = \frac{20}{\frac{21}{\frac{4}{9}}}$	$F = \frac{5}{\frac{4}{15}}$	$G = \frac{3}{1 - \frac{2}{3}}$	$H = 1 - \frac{3}{8} \left(\frac{1}{4} - \frac{5}{6} \right)$
$E = \frac{20}{21} \times \frac{9}{4}$	$F = 5 \times \frac{15}{4}$	$G = \frac{3}{\frac{3}{3} - \frac{2}{3}}$	$H = 1 - \frac{3}{8} \left(\frac{3}{12} - \frac{10}{12} \right)$
$E = \frac{20 \times 9}{21 \times 4}$	$F = \frac{5 \times 15}{4}$	$G = \frac{3}{\frac{1}{3}}$	$H = 1 - \frac{3}{8} \times \left(-\frac{7}{12} \right)$
$E = \frac{5 \times 4 \times 3 \times 3}{7 \times 3 \times 4}$	$F = \frac{75}{4}$	$G = 3 \times \frac{3}{1}$	$H = 1 + \frac{3 \times 7}{8 \times 12}$
$E = \frac{5 \times 3}{7}$		$G = \frac{3 \times 3}{1}$	$H = 1 + \frac{3 \times 7}{8 \times 4 \times 3}$
$E = \frac{15}{7}$		$G = \frac{9}{1}$	$H = 1 + \frac{7}{8 \times 4}$
		$G = 9$	$H = \frac{32}{32} + \frac{7}{32} = \frac{39}{32}$

Exercise 2 :

$$A = \left(\frac{2}{3} - \frac{1}{2}\right) \div \left(\frac{1}{3} - \frac{1}{4}\right)$$

$$B = -\frac{3}{5} + \frac{2}{3} \times \frac{-3}{5} - \frac{36}{4}$$

$$C = -3 + 5 - (-6) \times (-2) - 3 + (+2)$$

$$A = \left(\frac{2 \times 2}{3 \times 2} - \frac{1 \times 3}{2 \times 3}\right) \div \left(\frac{1 \times 4}{3 \times 4} - \frac{1 \times 3}{4 \times 3}\right)$$

$$B = -\frac{3}{5} - \frac{2 \times 3}{3 \times 5} - \frac{9 \times 4}{4 \times 1}$$

$$C = -3 + 5 - (+12) - 3 + 2$$

$$A = \left(\frac{4}{6} - \frac{3}{6}\right) \div \left(\frac{4}{12} - \frac{3}{12}\right)$$

$$B = -\frac{3}{5} - \frac{3}{5} - \frac{9}{1}$$

$$C = -3 + 5 - 12 - 3 + 2$$

$$A = \frac{1}{6} \div \frac{1}{12}$$

$$B = -\frac{5}{5} - \frac{9}{1}$$

$$C = +5 + 2 - 3 - 12 - 3$$

$$A = \frac{1}{6} \times \frac{12}{1}$$

$$B = -1 - 9$$

$$C = +7 - 18$$

$$A = \frac{12}{6} = 2$$

$$B = -10$$

$$C = -11$$

$$D = \frac{9}{3} - \frac{8}{3} \div \frac{16}{27}$$

$$E = \frac{7}{2} - \frac{4}{2} \times \frac{6}{8}$$

$$F = -1 + \frac{\frac{2}{5} - 2}{\frac{4}{3} - 2}$$

$$G = -\frac{5}{12} + \frac{7}{18} - 1$$

$$D = \frac{9}{3} - \frac{8}{3} \times \frac{27}{16}$$

$$E = \frac{7}{2} - \frac{4 \times 6}{2 \times 8}$$

$$F = -1 + \frac{\frac{2}{5} - \frac{2 \times 5}{1 \times 5}}{\frac{4}{3} - \frac{2 \times 3}{1 \times 3}}$$

$$G = -\frac{5 \times 3}{12 \times 3} + \frac{7 \times 2}{18 \times 2} - \frac{36}{36}$$

$$D = \frac{9}{3} - \frac{8 \times 27}{3 \times 16}$$

$$E = \frac{7}{2} - \frac{4 \times 3 \times 2}{2 \times 4 \times 2}$$

$$F = -1 + \frac{\frac{2}{5} - \frac{10}{5}}{\frac{4}{3} - \frac{6}{3}}$$

$$G = -\frac{15}{36} + \frac{14}{36} - \frac{36}{36}$$

$$D = \frac{9}{3} - \frac{8 \times 9 \times 3}{3 \times 8 \times 2}$$

$$E = \frac{7}{2} - \frac{3}{2}$$

$$F = -1 + \frac{\frac{8}{5}}{-\frac{2}{3}}$$

$$G = \frac{-15 + 14 - 36}{36}$$

$$D = \frac{9}{3} - \frac{9}{2}$$

$$E = \frac{4}{2}$$

$$F = -1 + \left(-\frac{8}{5}\right) \times \left(-\frac{3}{2}\right)$$

$$G = \frac{-37}{36}$$

$$D = \frac{9 \times 2}{3 \times 2} - \frac{9 \times 3}{2 \times 3}$$

$$E = 2$$

$$F = -1 + \frac{8 \times 3}{5 \times 2}$$

$$D = \frac{18}{6} - \frac{27}{6}$$

$$F = -1 + \frac{24}{10}$$

$$D = -\frac{9}{6}$$

$$F = -\frac{5}{5} + \frac{12}{5}$$

$$D = -\frac{3}{2}$$

$$F = \frac{7}{5}$$

BONUS :

$$H = \frac{1}{1 + \frac{2}{1 + \frac{1}{2}}} = \frac{1}{1 + \frac{2}{\frac{2}{2} + \frac{1}{2}}} = \frac{1}{1 + \frac{2}{\frac{3}{2}}} = \frac{1}{1 + 2 \times \frac{2}{3}} = \frac{1}{1 + \frac{2 \times 2}{3}} = \frac{1}{\frac{3}{3} + \frac{4}{3}} = \frac{1}{\frac{7}{3}} = 1 \times \frac{3}{7} = \frac{3}{7}$$